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1 EMRUEMEAM

M E B | IEROPHER OB I RN | e | 2B |
(R —1 *ﬁffﬁiﬁ 38590 MM¥H1 30, 500 30,100 | A 1.3
P (F)  —2 EEITFAKT 15 2%1 52, 400 52, 400 0.0
T () —3 B H BT R 5 % 4 64, 500 64, 700 0.3
L () —4 VAT AR 1 54 0% 20 55, 800 55, 800 0.0
() —5 WHIFHET2 3 3% 3 0 79, 200 79, 500 0.4
L () —6 J\AHRHETH AL 1 8 9 0% 2 11, 800 11,700 | A 0.8
T () —7 ?%EEZE? 68#3 4 TR 6 69, 000 69, 000 0.0
T () —8 Jl\%fgiaﬁ 2653#& 14 TAEH 46, 000 46, 000 0.0
L () —9 A1 24%21 4 70, 100 70, 700 0.9
BITOR) —10 f?ff?gf 19136 LEAARS 58, 300 58, 700 0.7
AL (R)  —11 %?TFTE 16 TRHAT —1 76, 000 76, 500 0.7
BT —12 %%?Ef TH25% RsEs - 19, 400 49, 100 0.0
Ayn () —13 a7 i3 28 0% 1 8 56, 700 56, 700 0.0
T () —14 HIEAT 7 7 0% 67, 500 67, 500 0.0
T () —15 FHITHE471%16 62, 000 62, 900 1.5
T () —16 HHHET K 1 8 3 97 64 46, 000 46, 400 0.9
T () —17 JIREEIT L7 33%47 50, 100 50, 500 0.8
Pir () —18 FHEHEATFHE1206%9 61,000 61, 000 0.0
T () —19 BET 40T /1 155%97 22, 500 22,400 | A 0.4
T (B —20 HERETR AR T RH 19 23 11, 200 11,100 | A 0.9
T () —21 JE SRR N TS A 6 8 3% 19, 700 19,400 | A 1.5
T () —22 EARITRKAE 154 9% 12, 000 11,900 | A 0.8
fayc () —23 JRETIL R 795 5 3 8% 3 54} 9, 600 9,500 | A 1.0
Pr () —24 ESARETINE 1 1 4 5% 8 15, 700 15,500 | A 1.3
v () —25 FEIRBINTEXH1 7 3 2% 3 14, 400 14,100 | A 2.1
ir () —26 EIRPIRTIEH 6 6 57 2 10, 000 9,900 | A 1.0
v () —27 FEORBIHTIR 2 8 0 % 8, 100 8,000 | A 1.2
fir () —28 NENTHER 2 0 1% 22,900 22,900 0.0
fayc () —29 J\ERTHERF 7 4 6 % 4 4 11, 200 11,100 | A 0.9
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fRir () —30 NEIMHE156%1 4 31,900 31,700 | A 0.6
AL () —31 LTG5 4 3% 2 3 38, 400 39, 100 1.8
fRir () —32 EGHTGHT 1 7 138 2 46, 200 46, 900 1.5
fayr (B)  —33 RERTAA215%2 17, 800 17,400 | A 2.2
Rr () —34 RIEHTHORIFO 9 4% 2 4 17, 800 17,400 | A 2.2
fayc (B)  —35 HHERTHERFRAR8 1 4% 3 24+ 32,300 32, 500 0.6
L (B —36 WO ERTHER TR 4 1 1751 35, 300 35, 300 0.0
fayr () —37 VHifEFERT 1 0 3 7 3% — 29,000 | FEEEE
fmir () —38 SHEHT 8 3% 7 8 31, 000 30,400 | A 1.9
fayr () —39 AFERTFMI 1 1 9% 18, 800 18,700 | A 0.5
BT R —40 2%‘?’;?6 52&32 I5C¥a 49, 700 49,200 | A 1.0
AT () —41 ELHTHRE 5 1% 11, 600 11, 600 0.0
() 3 —1 FHETFYERE 4 8 6% 1 23, 500 23, 500 0.0
T () 3 —2 VIRETSR 2 0 7 2 %4 14, 400 14,100 | A 2.1
AL () 3 — 3 EGHTGHT 3 9 7% 1 17, 000 17, 000 0.0
Pr (B) 5 —1 TET2 6% 1 78, 800 78,500 | A 0.4
AT () 5 — 2 T 3 8 % 1 102, 000 102, 000 0.0
L (J%) 5 — 3 BT 1 0% 4 TEHT15—1 4 59, 900 59,700 | A 0.3
AT () 5 — 4 EIHBTFFEAE 4 8 7/ 1 74 106, 000 106, 000 0.0
T () 5—5 ?%]JZTH 602% I#R2-29- 108, 000 108, 000 0.0
AT (J) 5 — 6 AT EE 4 7 0% 14+ 114, 000 114, 000 0.0
I (B) 5 —7 HHEITFT /4 25%7 110, 000 110, 000 0.0
RV (B) 5 — 8 W JRET 3 7 % 84, 700 83,000 | A 2.0
A (J) 5 — 9 FESETE AT\ H 2 2 93 34} 26, 600 26,400 | A 0.8
e (B) 5 —10 EARETANE 6 1 2 3% 17, 500 16,900 | A 3.4
AT (B) 5 —11 FORBINTEIREI 6 5 1 &S 26, 500 25,600 | A 3.4
AL (BR) 5 —12 LA 7 4 2 % 54+ 53, 700 53, 700 0.0
fayr (W) 5 —13 SEHTIAFN L 2 6 % 31, 200 30,400 | A 2.6
v (W) 5 —14 WIHETERTHR, L1 205%F1 41, 500 41, 500 0.0
() 9 —1 JNIERTFREFH4953FK1 7 16, 700 16,600 | A 0.6
AT (B) 9 — 2 S IT AT I 6 0 135 74+ 17, 800 17,600 | A 1.1
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T () 9 — 3 JURBTVL S8 i 1 1 2 8% 5 44+ 9, 400 9,300 | A 1.
AL (W) 9 — 4 RIERTVE 2 A 7 53 14+ 9, 100 8,900 | A 2.
AL () 9 — 5 HHERT#HES 8 3% 1 6 15, 300 15,200 | A 0.
T () 9 — 6 HOEEHATFEE 1 2 6 2% 14+ 38,100 37,400 | A 1.
FEEOR) —1 IEHTERT 2 3% 1 1 51,300 51, 300 0.
FHEO) —2 N6 3 6% 3 2 28, 800 28,600 | A 0.
FEHOR) —3 FERIT701%1 4 35, 000 34,700 | A 0.
EHO) —4 H)IMT4105%1 51, 500 50,800 | A 1.
FEHOR) —5 JEANT A 4 2 27 24, 800 24,600 | A 0.
EHOL) —6 —FEET =7 5 4% 3 16, 600 16,400 | A 1.
) —7 BYHT £~ 5 6 8% 5 6 15, 000 14,700 | A 2.
EH (L) —8 BIRET AR 2 8 3 9, 950 9,900 | A 0.
EHOER) —9 JERTATH 3 8 4% 1 8, 850 8,800 | A 0.
FE (L) —10 ZEET =141 7% 10 23, 300 23,000 | A 1.
FHOR) —11 JERTAH 2 1 9% 9 4, 750 4,700 | A 1.
() —12 IRITRZAH S 5 5% 3 3, 450 3,400 | A 1.
EH () —13 INRETAIEA 58 9% 9 3, 450 3,400 | A 1.
el (R) 5 —1 T 8 4% 3 69, 500 69,000 | A 0.
FeH(R) 5 —2 A ET 3 8 #FSh 48, 400 48, 400 0.
el (F) 5 —3 SHHTERA 97 431 14, 000 13,800 | A 1.
FH(R) 5 —4 JEHTATH 6 0 5% 7 — 9,700 | BER
el () 5—5 ZFEET =R 31 17 146 32, 500 32,200 | A 0.
FHOR) 9—1 THHEI327%100 14, 400 14,300 | A 0.
EHEOL) 9—2 JFHET3 05 0% 3 64+ 14, 000 13,900 | A 0.
HEG) —1 HE 4 il 5-8E 3 & 7 41 41, 800 41,500 | A 0.
HEM) —2 WG AIRET6 TH6 7% 40, 500 40, 500 0.
HEM) —3 AT FHT R 9 5% 4 32,000 31,900 0.
HEG) —4 HEFHT 7 0 1% 3 0 36, 400 36, 200 0.
HEMR) —5 %?%ng TH10%S TEKHAT 2 36, 400 36, 400 0.
HEM) —6 REIFHA2558%1 8 30, 200 30, 100 0.
HEG) —7 HEMFTE2 2 2 3%3 23, 800 23, 600 0.
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HEM) —38 ATRTIEARRT4 TH 3% 1 5 44, 500 44,000 | A 1.
HEG) —9 HENT8 9 1%6 26, 500 26,200 | A 1.
HEG)  —10 FHHETFRAE2 7 8 5%5 29, 800 29,500 | A 1.
HEG)  —11 HAEAT i /N1 8 8 275 18, 700 18,600 | A 0.
HEG)  —12 PEIEHET 1 7 03 33, 600 33,300 | A 0.
HEGR)  —13  CFHETFAES 5 1% 26, 200 25,900 | A 1.
HEGR)  —14 [ ETE 814 0 73 2 26, 200 26,100 | A 0.
HEM)  —156 eI A 7 4 1% 444 4, 950 4,900 | A 1.
MEG) —16 [EHET-ERTHEH2 12 53 14+ 3, 500 3,450 | A 1.
HEGR)  —17 RAETHFEEEFRET 2 4 3 3% 22, 000 21,900 | A 0.
HEG) —18 ZAERT O HEES 4 9% 2 04 8, 300 8,200 | A 1.
HEGR)  —19 [ ZEETAR 1 35 2% 4 8, 400 8,350 | A 0.
HEGR)  —20 ZERTNH 1 5 0% 1 7 8, 500 8,450 | A 0.
HEGR)  —21 IREET=#127 1% 1 3 16, 800 16, 800 0.
HEG)  —22 AR —#1 7 2 93F 1 9, 150 9, 100 0.
HER)  —23 RAEEB G FER 4 0 0 & 18, 400 18, 300 0.
HEG) —24 RALRTPFEER FRESRIN T 25 9% 1 1 26, 400 26, 200 0.
HEGR)  —25 WINITHER 3 9 1 3% 25, 500 25, 700 0.
HEG)  —26 NI BT ER)I1 73072 22, 000 22, 000 0.
HER)  —27 EJINHTEIT1 55 5%6 3 24, 200 24, 200 0.
HEG) 5 -1 BREGET 2 TH 17 1 67, 100 67, 100 0.
HEUG) 5—2 JERGRT1 05 5% 1 75, 000 75, 000 0.
HER) 5 -3 i{ﬁf*ﬁlﬁ g JT H'8 0 Hiitathal 3 45,000 44,400 | A 1.
HEG) 5 —4 WHBTEE)I 2 2 4 8% 2 4% 35, 500 34,400 | A 3.
HEGR) 55 PEHBTSO2 TR 1 5 8 67 3 4 8, 600 8,350 | A 2.
HEUL) 56 ST 258 7 6% 2 1 15, 000 14,800 | A 1.
HER) 5 -7 AFHERT N1 2 1 3% 2 30, 300 29,900 | A 1.
HIEE () 5 — 8 ﬁﬁ:m%%@@ﬁﬁiﬁzm 1364%11 54,700 54,700 0.
HEUR) 5—9 JIMTEIL4 8 3 1% 2 31, 500 31,400 | A 0.
HER) 5 —10 WIINHTHER 3 8 4 93 28, 400 28, 600 0.
HEE () 5 —11 REsg 2 TH4A%E 345 45, 500 45, 500 0.
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HEG) 9—1 FUEHT 5 1 6 % 94+ 7,250 7,250 0.0
HER) 9 —2 BN F— /8147 7%5 1 14, 500 14, 300 1.4
HE) 9—3 ST O/ 0 83K 1 7, 400 7,300 1.4
HEGR) 9 —4 T 5 % 1 4% 16, 900 16, 900 0.0
HE) 9—-5 WINETHER 3 1 6 7% 84+ 9, 700 9,650 | A 0.5
fmE R —1 WHTOEETA 33 3%5 39, 500 38,400 | A 2.8
WHOL —2 ?TTEWZS%ZEB A3 5 - 2 28, 300 27,300 | A 3.5
WHOR) —3 @%%Lﬁ41009%§ L -2 33, 200 32,200 | A 3.0
wH () —4 TAMET7 05%2 2 26, 700 25,800 | A 3.4
WEOY —5 %E“gzﬂ” 683%80 TS 4- 25, 000 24,500 | A 2.0
wH () —6 HEEITS 1 7% 14+ 30, 200 29,100 | A 3.6
mm ) —7 EHRETIIAA 21 8% 2 6, 100 6,000 | A 1.6
wH (%) —8 EHRTIES 8 9% 1 6, 100 6,000 | A 1.6
wHEOY  —9 EHMTFH) Iz 6 8 8% 4 4, 200 4,100 | A 2.4
wHE () —10 VCRETEIA 4 0 23 14+ 1, 900 1,850 | A 2.6
() —11 VCRHETIE)I A 2 6 % 1, 700 1,650 | A 2.9
WwHE (L) 5 —1 HITIEDOHRIT1 552 6 54, 800 54,200 | A 1.1
(5 5 — 2 EHTHEX 1 8 0 0F 44+ 8, 500 8,400 | A 1.2
WwH(R)5—3 PERHETIER A 126 876 5, 600 5,500 | A 1.8
WHR) 5 —4 Zf\fw” 618%1 IFTHrd2—1 34, 800 34,600 | A 0.6
WmE) 9 —1 %?Ig?gé}”’%l“ [t 24, 400 23,600 | A 3.3
KEOR) —1 é‘mﬁkmmkm$$ﬁ/ﬁﬁ4276%§ 30, 700 30,300 | A 1.3
KE () —2 KHEBETRHTY /IEe 8 1 8% 4 21, 300 20,700 | A 2.8
KEOR) —3 KHEERHFRHEET N 2 8 2 % 23, 000 22,700 | A 1.3
KE () —4 R RAFEfFn 3 3 3% 1 8 23, 800 23,300 | A 2.1
KEUR) —5 KHEETKHTER2 111 2% 745 26, 800 26,300 | A 1.9
KE(R) —6 KHERTKHETM /fie 3 2 8%4 21, 700 21,100 | A 2.8
KE) —7 TR NEFRE ) A 4 181 1 18, 600 18,200 | A 2.2
KE () —8 CEERT{Z 57 HHT 1 5 0 8% 15, 400 15,100 | A 1.9
KEW) —9 {FERT G /¥ 1 7 3 6% 2 0 8, 600 8,500 | A 1.2
RKHM)5—1 KRHEECRHF#HEZ 9 4 0% 84+ 36,000 35,200 | A 2.2
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KH () 5 —2 {BERT #4314 0 18, 900 18,500 | A 2.1
K (%) 5—3 RAITRAFTFIEA S5 4 8% 3 34, 800 34,000 | A 2.3
KHEUR) 9—1 ST A4 13%15 5, 100 5,050 | A 1.0
k() —1 LORTIREBITFH 1 74 8% 1 27, 300 26,800 | A 1.8
2k () —2 BHHITTM 17 13533 24, 300 23,700 | A 2.5
2Rk (F) —3 KR REER 1 8 73 17,900 17,600 | A 1.7
2k (R) —4 HERTFHTIE YD 3 3 2% 21, 300 20,900 | A 1.9
k() —5 RRHT L 9 5% 7,600 7,500 | A 1.3
k() —6 JEVERTIAWE S 6 27 3 16, 900 16,600 | A 1.8
k() —7 JRYERTA 1 6 6 7% S 8, 200 8,100 | A 1.2
k() —8 HRRTZH 1 25 0%9 13, 400 13,200 | A 1.5
k() —9 AT PE4 9 1%/ 7 16, 900 16,600 | A 1.8
ZRR)  —10 MEALRETFHHES 471 3 18, 600 18,400 | A 1.1
TR 5 —1 LHRETFNET 18 2% 1 74 39, 300 37,800 | A 3.8
2ok () 9 —1 EIWEMT1143%1 3 14, 700 14, 700 0.0
THE(R) —1 JLHEETARJIET L 2 1 8% 17, 600 17,300 | A 1.7
TR —2 BATHTARER 1 97 1K 7 10, 200 10,100 | A 1.0
TR —3 WrHA1255%45 17,000 16,700 | A 1.8
TR —4 FAEA1322%18 24,100 23,500 | A 2.5
() —5 HREFEAT 2 3 3 23 2 25, 000 24,900 | A 0.4
TR —6 AFIMT353%20 15, 000 14,800 | A 1.3
) —7 BATAT)IE 1 4% 14+ 13, 200 13,000 | A 1.5
EE(R) 5 —1 WAE2306%24 48, 500 47,500 | A 2.1
THE(R) 9 — 1 HRFHHET2 30 7%/ 1 94+ 8, 350 8,300 | A 0.6
ER) —1 LR RHRETRIT 0 9 0% 6 18, 800 18, 800 0.0
ER) —2 HAERT AR 2 7 9%6 4, 900 4, 750 3.1
EmUR) —3 KRIAHTIRMTH 3 8 7 3% 7,600 7,500 | A 1.3
E(R) —4 INEETANEH 101 131 20, 100 20, 100 0.0
E(R) —5 HEATHRA 1 4 0% 3 13, 100 13, 000 0.8
Er(R) —6 HEMHAS527%&19 6, 800 6, 750 0.7
(R —7 ARKHETHTHT 4 4 1% 21,100 20, 800 1.4
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Er () —8 AREITEHAE 16 4% 1 1 13, 300 13,200 | A 0.8
Er(R) —9 ARKETTRER 1 21 03 1 29, 100 28,900 | A 0.7
L () —10 =JJRHT# T 8 5 83 54+ 14, 000 14, 000 0.0
L (R —11 BEITHA2190% 1 10, 000 9, 900 1.0
T () —12 —JIBHT=J]E 9 5 6 % 3 18, 200 18, 000 1.1
EU) —13 SR =J)RE1230%5 8 22, 000 22, 000 0.0
T () —14 EHETEHFAT2 70 4% 7 6, 700 6, 600 1.5
EmU) —15 w5 HETPRE FIREF 5 0 % 2, 750 2, 700 1.8
Er () 5—1 ARRHTARK 4 6 8 % 6 26, 300 26, 100 0.8
Er(R)5—2 =JIRET=J)R 3 5% 24+ 37,000 37,000 0.0
Erg(R) 53 HEIT#HA2150%6 6 11, 600 11,400 | A 1.7
Er(R) 9 —1 ARWETESF 109 3% 1 0 44 18, 700 18,400 | A 1.6
BHE) —1 [(CZERRIHENT T3 4 5% 1 11, 100 11,000 | A 0.9
BHEG) —2 |Z710%4 17, 800 17,600 | A 1.1
HWHEW) —3 #AE1556% 8, 200 8,150 | A 0.6
BHEG) —4 (B{H6 84%F 14t 14, 900 14,700 | A 1.3
WHEGR) —5 k47 8%F7 8, 800 8,750 | A 0.6
BHEWG)S -1 | =26 5% 23, 300 23,100 | A 0.9
RIE) 5—2 |BiH104 3% 24+ 23, 500 23,200 | A 1.3
i () —1 BRA BRI 1 6 0 8 % 2 9, 400 9,300 | A 1.1
fiREE () —2 EH2201%20 8, 800 8,700 | A 1.1
i () —3 BR5 8% 5, 200 5150 | A 1.0
i () —4 BHE1008%F1 5, 100 5,050 | A 1.0
i () —5 FR%124%3 7,000 6,900 | A 1.4
i () —6 T4 1344%3 3, 720 3,700 | A 0.5
i () 5 — 1 MWEH207 9% 7 14, 200 13,900 | A 2.1
i () 5 — 2 ER%1660%2 - 10,800 | BEHE
ARG —1 EEERIIARBTRT)IAL 14 7%3 6, 400 6,200 | A 3.1
A —2 KFNA42 715 14, 500 14,000 | A 3.4
AR —3 KFHE3 5 1% 34+ 7,900 7,600 | A 3.8
FHB) —1 FHRITIEIR 6 5% 1 6, 100 6,000 | A 1.6
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T —2 ¥ 2 7 7% 9, 500 9,400 | A 1.1
EMUL) -3 HEIT4 9% 1 — 3,050 | WEEHE
ERO) —4 HAEAH 3 9 7% 14+ 4, 150 4,100 | A 1.2
FEH ) 5—1 FIPH177%10 14, 200 14,000 | A 1.4
Er () —1 EL R ETRIZEAR 1 4 7 3% 3 4, 300 4,150 | A 3.5
B (R) —2 FE 241 3%1 5, 000 5, 000 0.0
B () —3 ER403%F1 3, 800 3, 750 1.3
Br(R) —4 HA1944% 4, 300 4,150 3.5
B (R —5 THAT2 5 8%S8 5, 200 5, 100 1.9
BERUR) —6 XE3817%16 5, 250 5, 250 0.0
Brg(R) —7 HE3220%2 3, 500 3, 450 1.4
ErF(R) 5 —1 THPS554%3 5,100 4, 950 2.9
Epg () 5 — 2 HP 4 8% 2 5, 700 5, 650 0.9
Er(R) 5 —3 K b4 2% 6, 750 6, 750 0.0
g (R 9—1 THAT9 3% 1 4,100 4,050 | A 1.2
FEFNEF () — 1 FERACHEFEFETSFH 8 N 1 16, 100 15,700 | A 2.5
() —2 |hEr 8 2% 25, 500 24,900 | A 2.4
(R —3 |(#HEBr50 7% 28, 400 27,900 | A 1.8
HEREF () —4 Mo 74%47 15, 300 15,100 | A 1.3
EfE(R) —5 HHR790%F1 12, 000 11,900 | A 0.8
(R —6 |A#990%F?2 4, 050 4,000 | A 1.2
EREF(R) 5 -1 |[HRABrT77ES — 29,300 | EER
EREF(R)5—2 |AHFE226%1 19, 500 19,300 | A 1.0
sHEO) —1 HEETHIANTIAS 6 7% 6 9, 400 9,250 | A 1.6
sHOR) —2 iARHIAZ 2 3% 2 6, 600 6,450 | A 2.3
HHUR) —3 NHH8 7 2% 13, 200 12,900 | A 2.3
sHOR) —4 tHH626% 8, 700 8,500 | A 2.3
HHUR) —5 SN 2 9 97 5 8, 950 8,750 | A 2.2
EE) 51 NHETH 7 8 5 &S 17, 500 17,000 | A 2.9
R —1 BRI By TR i1 1 2 3% 144 — 8,800 | BER
(R —2 KTWH1671% 4, 600 4,500 | A 2.2
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(%) —3 RFEFZHE204%4 5, 100 5,000 | A 2.0
MR 5 -1 KRFwEIE9 6 78 18, 400 18,000 | A 2.2
2R — 1 W BACRTE TR T 4 TE 1 15, 000 14,300 | A 4.7
R —2 | RFEHFREZ299F1 13, 700 13,300 | A 2.9
v RBUR) —3 [ RFEHFFTFHME 6% 1 17, 300 16,800 | A 2.9
W05 —1 | RFHMFIEM/ I 3 5 1% 1 29, 800 28,400 | A 4.7
mRUR) —1 HMRMNFARVIE2 27 4% 4,000 3,900 | A 2.5
MR 5 —1 FEE1014%2 8, 200 8,000 | A 2.4
Bz D g5 (B  — 1 |BRsk op B5HT L R = Fif 5 5 3% 1 14, 600 14,400 | A 1.4
BRI D 55 (B — 2 IR 2 5 73 2 6, 150 6,100 | A 0.8
Rk o () — 3|51 1 0% 22, 800 22,300 | A 2.2
PRl D B (B — 4 fif PR 2 1 3% 2 10, 100 9,750 | A 3.5
F o () — 5|# RN 2 3 4 8% 74+ 11, 400 11,100 | A 2.6
Bz D &5 (B)  — 6 [ AL FEKH 3 0 63 1 9, 100 8,950 | A 1.6
Bz s () 5 — 1|HHETHE DN 2 8 % 1 46, 000 44,300 | A 3.7




